1: main
%1 = alloca 132, align 4

F
2: main

veritesting3.c:14
1(66 = input[0])

F T

6: main
veritesting3.c:12
(66 = input[1])

F T

T
ERR
9: main
veritesting3.c:12

(66 = input[0])
F T

10: main
veritesting3.c: 14
1(66 = input[1])

F T

13: main
veritesting3.c:12
(66 = input[1])

F T

3: main
veritesting3.c:14

\

7: main
veritesting3.c:14

8: main
veritesting3.c:12

12: main
veritesting3.c:12

'

14: main
veritesting3.c:14

15: main
veritesting3.c:12

1(66 = input[1]) 1(66 = input[2]) (66 = input[2]) (66 = input[2]) ERR 1166 = input[2]) (66 = input[2])
F T (subsumed) (subsumed) (subsumed) (subsumed) (subsumed)
\\ // // P _

/ -

‘2 /,3 A -5
. - -
A -~ '11. : 4

4: main 5: main - hain

veritesting3.c:14
1(66 = input[2])
(terminal #1)

veritesting3.c:12
(66 = input[2])
(terminal #2)

veritesting3.c: 14

1(66 = input[2])

ASSERTION FAIL: veritesting3.c:18
(terminal #5)




